Chopter 10- Day i
x S\PPOSL'C(&VEZX X¢ 2L

w
M“Q“'QJ y 'F(*\ a X

S‘C(ﬂdx- f 2x dx + g,_ 8 dx

- (lx‘)\ + (8,0,\“0‘

S0+ 845 -Gdn2

= ‘-l "'B‘Q.‘,S-_a‘zhz-




SvloSkthion Rule for Tntegals
J WC us 4(4) \s a di@um’da.b\e, ‘Rmoh'or\

Whose. vange 1€ a Sointenal T and £
15 @ntinugys on 1, then

for defwiite ntegrals
o ' 9(b)

S\ “9(’«)\3‘&)4#& £ () due
o 9(a)




@ Dualuate y (++9) at I
0 |
\ \et w=s+t+94

: | =) du=|dt

if =0, Men u=0+9=9
i t=X, then = x+9

h x+9
mj (++4) ‘“’-f u- du

G,

3 (x4’ 100}




X Dualuake S 3t+7 dt ‘
| 0

St U= 3447

dv _ - =
x=3 -7:1\: 3dt
-gdu:di'

- if =0 Yhen uz3(0)+7= ]

12X dnen u=3x+7
3x+]

X
Y V37 di =S '’ -$du
0

3x+1

1

;)




X waluate S\ e ™ dx
o 0

ler w= Sy '

W.5 =5 du=5gx
ax

iFX'&O +hen u= |

if xs | then uz b

6
S‘S 7T S‘ e’ du
Yo

")




let u= X +|
a.‘-?.x =) du=2x dx

W X0 ¥hon us \
\Fx=3 Wwen uzio

[ R de)= y"’-- o




i.’i: CDM\)\)‘\‘L Yne dervatve of
sf’

BRI go 2% At
- Wit lef £00= % ong em-‘-f:zm

Thon x"
W)= gix')= |, 2tdk =Filx)
Then by chainvole,
 FlU= g (#w) Fx)

= 9'(x2) . 2X
by FTC, g'(x)= Zx  So 3'(x‘)= 2"




| I
I In general | F(X\-‘S\a LGL

flx)
g dt
n PO =5 (e

= R(£w) - £00)




